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pdf) . In this we are mostly dealing with the electrical circuits and electromagnetic laws, and electronics, and principles of signal processing. However, this is only a very basic overview of this subject. The following is a brief outline of a few of the principles of this subject: * * It may be thought of as a mathematical problem where the quantity that must be calculated is the electric potential or voltage
across a voltage divider. In other words, the goal is to calculate the voltage divided by two, and this must be done as quickly as possible, since it is assumed that the divider is being switched in and out of the circuit. * * For this application, we will use two voltage divider circuits connected together to form a Wheatstone bridge, and the goal is to calculate the voltage across the two resistors which are
connected together across the two outputs. * * In order to simplify this, the two resistors will be separated with a capacitor and a signal source, which will feed a current I(t) to the circuit. * * The time to measure the circuit must be kept to a minimum to obtain a good reading of the circuit, and hence, the signals must be of the shortest time. Therefore, the pulses must be of the highest possible current,
and hence, of the shortest duration possible. * * The circuit must also be measured as soon as possible, after the pulses are applied, in order to minimize the time required to measure the circuit. * * The capacitor should also be charged as quickly as possible in order to minimize the time to measure the circuit, and also to keep the signal amplitude constant. * * As long as the amplitude of the pulses is
not too large, a slight voltage drop across the capacitor may be ignored, since the signal will still be of an adequate size to perform its job. * * The circuit must also be charged at a rate that is proportional to the charge it receives, since if the rate is too low, the capacitor will not be charged completely, and thus, the pulse amplitude will not be constant. * * The voltage across the two resistors is the
difference in potential between the two resistors, which is proportional to the 520fdblae7
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